Run 10906s2

(01/28@06:02)EQueue: 0x20 Slots, W:d R:12e62 Stat:0 Max:4b000

(01/28@06:02)[0]receive_event: Row0=80.03.02.0.1020 0000.0000 02f0.0d24 0030.02b2

(01/28@06:02)[0]receive_event: Row1=81.03.01.0.2f0 0000.0000 0000.0000 0030.02b2

(01/28@06:02)[0]receive_event: Row3=63.03.03.0.176d0 1020.166b0 02f0.0d24 0030.02b2

(01/28@06:02)[0]receive_event: Row4=64.03.03.0.179a0 1050.16950 02f0.0d58 0030.02b2

(01/28@06:02)[0]receive_event: Row5=65.03.03.0.17740 0f50.167f0 02a0.0ca8 0030.0266

(01/28@06:02)[0]receive_event: Row6=66.03.02.0.17868 0000.0000 02f0.0cec 0030.02b2

(01/28@06:02)[0]receive_event: Row7=67.03.02.0.1008 0000.0000 02f0.0d10 0030.02b2

(01/28@06:02)[0]receive_event: Row8=68.03.02.0.1008 0000.0000 02f0.0d0c 0030.02b2

(01/28@06:02)[0]receive_event: Row9=69.03.02.0.fe8 0000.0000 02f0.0cec 0030.02b2

(01/28@06:02)[0]receive_event: Rowa=6a.03.02.0.1020 0000.0000 02f0.0d24 0030.02b2

(01/28@06:02)[0]receive_event: Rowb=6b.03.02.0.1028 0000.0000 02f0.0d30 0030.02b2

(01/28@06:02)[0]receive_event: Rowc=6c.03.02.0.ff0 0000.0000 02f0.0cf8 0030.02b2

(01/28@06:02)[0]receive_event: Rowd=6d.03.02.0.1020 0000.0000 02f0.0d24 0030.02b2

(01/28@06:02)[0]receive_event: Rowe=6e.03.02.0.fe0 0000.0000 02f0.0ce8 0030.02b2

(01/28@06:02)[0]receive_event: Rowf=6f.03.02.0.fe8 0000.0000 02f0.0cf0 0030.02b2

(01/28@06:02)[0]receive_event: Row10=70.03.02.0.1060 0000.0000 02f0.0d64 0030.02b2

(01/28@06:02)[0]receive_event: Row11=71.03.02.0.1008 0000.0000 02f0.0d0c 0030.02b2

(01/28@06:02)[0]receive_event: Row12=72.03.02.0.fd0 0000.0000 02f0.0cd8 0030.02b2

(01/28@06:02)[0]receive_event: Row13=73.03.02.0.1010 0000.0000 02f0.0d18 0030.02b2

(01/28@06:02)[0]receive_event: Row14=74.03.02.0.1018 0000.0000 02f0.0d20 0030.02b2

(01/28@06:02)[0]receive_event: Row15=75.03.02.0.1048 0000.0000 02f0.0d4c 0030.02b2

(01/28@06:02)(01/28@06:02)[0]receive_event: Row16=76.03.02.0.1018 0000.0000 02f0.0d1c 0030.02b2

(01/28@06:02)[0]receive_event: Row17=77.03.02.0.fc8 0000.0000 02f0.0cd0 0030.02b2

(01/28@06:02)[0]receive_event: Row18=78.03.02.0.1028 0000.0000 02f0.0d2c 0030.02b2

(01/28@06:02)[0]receive_event: Row19=79.03.02.0.1010 0000.0000 02f0.0d18 0030.02b2

(01/28@06:02)[0]receive_event: Row1a=7a.03.02.0.1028 0000.0000 02f0.0d2c 0030.02b2

(01/28@06:02)[0]receive_event: Row1b=7b.03.02.0.1000 0000.0000 02f0.0d04 0030.02b2

(01/28@06:02)[0]receive_event: Row1c=7c.03.02.0.1028 0000.0000 02f0.0d30 0030.02b2

(01/28@06:02)[0]receive_event: Row1d=7d.03.02.0.fd0 0000.0000 02f0.0cd4 0030.02b2

(01/28@06:02)[0]receive_event: Row1e=7e.03.02.0.ff8 0000.0000 02f0.0d00 0030.02b2

(01/28@06:02)[0]receive_event: Row1f=7f.03.02.0.1030 0000.0000 02f0.0d34 0030.02b2

(01/28@06:02)[0]writer: Error. File2[771567840],ev28915. Wrong record size 0!=30

(01/28@06:02)DataBlock[0] fe[30] header[30] qual=00.00.00 word0=deadface

(01/28@06:02)0000:00000000 00000000 00000000 00000000 00000000 00000000 00000000 00000000 

(01/28@06:02)0020:fe000030 30000000 deadface 00000000 00030000 00000030 00000000 00000000 

(01/28@06:02)0000:e10002c0 38820000 02b20100 0000029e 00000000 aa7d0082 00080204 0000029e 

(01/28@06:02)0000:68bd08a2 da0000bb ef000018 00000000 938002b2 00000182 00000000 00000000 

(01/28@06:02)0020:40380fff 40390fff 403a0fff 403b0fff 403c0fff 403d0fff 403e0fff 403f0fff 

(01/28@06:02)(01/28@06:02)[0]phatdaq: Idle.

(01/28@06:02)EQueue: 0x20 Slots, W:1 R:133eb Stat:0 Max:4b000(01/28@06:02)

(01/28@06:02)[0]phatdaq: Rowb=eb.03.02.0.17270 0000.0000 02f0.0cc8 0030.02b2

(01/28@06:02)[0]phatdaq: Rowc=ec.03.02.0.ff0 0000.0000 02f0.0cf4 0030.02b2

(01/28@06:02)2789.714 MB, 19.943 MB/s. 859.871 MB. Clients 2.10

